
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Installation Instructions for Part #: KPS01 - KPS07 

Karcepts A/C & P/S Removal Kit (With Alternator Relocation) 

 
This kit provides the SOLUTION for eliminating the air conditioning compressor and 

power steering pump on engines found in the 2002-2006 RSX, 2001-2006 JDM ITR, 

2001-2005 JDM CTR, 2002-2011 Civic Si, 2004-2008 TSX, 2003-2007 Accord, 

2003-2011 Element, & 2002-2009 CRV while: 
 

  -Relocating the alternator to avoid headlight material removal on 1988-1991 Civics & CRXs 

  -Eliminating pulley-to-hood interferences on 1988-1991 Civics and CRXs with a K-Series engine 

  -Eliminating individual throttle body interference issues 

  -Offering a compact yet robust design for overall cleanliness and reliable operation for any chassis 

  -Including only the highest quality materials: 6061-T6 billet aluminum and corrosion resistant hardware 

       
Karcepts, Inc. 

www.karcepts.com 

sales@karcepts.com 



Parts Included With A/C & P/S Removal Kit 
 

DESCRIPTION QTY 
ALTERNATOR RELOCATION BRACKET 1 

M10X40 FLANGE BOLTS (HONDA PART #: 95701-10040-08) 2 

ALTERNATOR SPACER(S) 1 or 3 

M8X100 FLANGE BOLT (HONDA PART #: 95701-08100-08) 1 

M8X50 or M8X70 FLANGE BOLTS  

(HONDA PART #: 95701-08050-08 or 95701-08070-08) 
2 

TENSIONER BRACKET 1 

STAINLESS STEEL M8X65 SOCKET HEAD CAP SCREW 1 

STAINLESS STEEL M8X20 or M8X30 SOCKET HEAD CAP SCREW 1 

TENSIONER BLOCK 1 

STAINLESS STEEL M8X25 BUTTON HEAD CAP SCREW 2 

M8 LOCK WASHER 2 

M8 FLAT WASHER 2 

STAINLESS STEEL M8X60 SOCKET HEAD CAP SCREW 1 

GATES GLASS-REINFORCED BLACK COMPOSITE IDLER PULLEY 1 

BEARING COVER (HONDA PART #: 31185-PCX-003) 1 

M10X25 SPECIAL FLANGE BOLT (HONDA PART #: 90031-PRA-000) 1 

475K6 or 485K6 V-BELT 1 

 

 

Tools Required 
12mm & 14mm Socket and/or Combination Wrenches 

Torque Wrench Capable of 15 ft-lbs (180 in-lbs) 

5mm & 6mm Hex Wrenches 

 

Optional Tools  
Krikit II V-Belt Tension Gauge 

 

 

 

 

 

 

 

 

 

 

Note: Read all instructions before attempting installation.   

If you do not believe you are qualified in performing the 

necessary installation, please find an experienced 

professional who can.        



1. POWER STEERING PUMP REMOVAL 
 

1. Remove the high pressure and return hoses from the power steering pump, 

and drain all fluids. 

 

 

 

 

 

 

 

 

  

 

 

 

 

2. Relieve tension on the factory belt by rotating the bolt on the auto-tensioner 

pulley clockwise, and remove the belt. 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. Unbolt the power steering pump and auto-tensioner from the engine. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. A/C COMPRESSOR REMOVAL 
 

1. Remove all A/C lines and unbolt the compressor from the engine.  Recover the 

refrigerant with a recovery/recycling/charging station. 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Unbolt the A/C compressor mounting bracket from the engine. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. ALTERNATOR RELOCATION 
 

1. Secure the alternator relocation bracket with the two M10 x 40mm long flange 

bolts (Honda Part #: 95701-10040-08).  Torque to 32 ft-lbs. 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Locate the alternator spacer(s) (either 1 or 3 spacers are included, depending 

on Karcepts Kit Part # being used), the single M8 x 100mm long flange bolt 

(Honda Part #: 95701-08100-08), and two M8 x 50mm or M8 x 70mm long 

flange bolts (Honda Part #: 95701-08050-08 or 95701-08070-08).  M8 x 70mm 

bolts are used when 3 spacers are provided. 

 

 

 

 

 

   

                                                                  or 

 

 

 

 

 

 
 

3. To prevent arcing, it is advised to first disconnect the negative and positive 

battery cables.  Next, unbolt the alternator and discard the factory bolts. 

 

 

 

 

 

 

 

 

 

 

 

 



3. ALTERNATOR RELOCATION (continued…) 
 

4. Insert the M8 x 100mm long flange bolt into the top hole of the alternator, then 

slide the 1/2” thick alternator spacer onto the bolt and thread by hand into the 

upper left hole where the A/C compressor previously mounted.  Thread this bolt 

approximately 2-3 full turns by hand to get started.  Once you get the upper bolt 

started, it will be able to support the alternator such that you can now start the 

threads of the bottom M8 x 50mm or M8 x 70mm bolts.  If your kit includes M8 

x 70mm bolts, it will also include two 3/8” thick alternator spacers which will 

need to be installed in between the alternator and the bracket on the lower 

mounting holes.  It is important to start the threads of all 3 bolts before 

beginning to tighten any of them down.  Once all bolts have been started, you 

may begin to torque them to 16 ft-lbs (192 in-lbs).  Do not over-torque or 

alternator bolts may shear under operation. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



4. TENSIONER INSTALLATION 
 

1. Affix the tensioner bracket to where the alternator previously mounted on the 

water pump housing with one M8 x 65mm long socket head cap screw (top 

hole) and one M8 x 20mm (or M8 x 30mm, depending on kit contents) long 

socket head cap screw (bottom hole).  Torque both bolts down to no more than 

16 ft-lbs (192 in-lbs). 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

2. Insert the tensioner block into the tensioner bracket with the tapped hole in the 

tensioner block facing upwards.  Temporarily snug the M8 x 25mm button head 

cap screws, lock washers, and flat washers into place with the tensioner block 

resting in the bottom of the tensioner bracket. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. Insert the M8 x 60mm long                                      

socket head cap screw into the                     

top of the tensioner bracket (leave   

loose temporarily; as shown). 

 

 

 

 

 

 

 



4. TENSIONER INSTALLATION (continued…) 
 

4. Wrap the 6 rib belt around the pulleys as shown while sliding the idler pulley 

onto the tensioner block.  PLEASE NOTE THE ORIENTATION OF THE BELT 

ONTO THE CRANK AND ALTERNATOR PULLEYS.  The orientation is NOT 

intuitive.  There will be one groove not used on each of those pulleys.  Make 

certain the groove not used matches that of the images shown. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5. Install the bearing cover (Honda Part #: 31185-PCX-003) and M10 x 25mm 

special flange bolt (Honda Part #: 90031-PRA-000).  Torque to 32 ft-lbs. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

CRANK PULLEY: Unused  

groove on OUTSIDE of pulley 

ALT. PULLEY: Unused  

groove on INSIDE of pulley 



5. TENSIONING THE BELT 
 

1. Loosen the button heads which were previously snugged such that the 

tensioner block will move up and down freely within the tensioner bracket.   

 

  

 

 

 

 

 

 

 

 

 

 

 

2. Tighten on the adjusting bolt to set proper tension.  Tensioning may be 

performed with a Krikit II V-Belt Tension Gauge which can be ordered through 

any NAPA auto parts store.  It’s a very inexpensive yet handy tool!    

 

 

 

 

 

 

 

 

 

 

 

 

 
 

3. On a new belt, you want to set the initial static belt tension such that the Krikit II 
reads 140lbs.  NOTE: This setting is higher than desired for normal operation, but 

is necessary for proper break-in.  Run the engine for 3-5 minutes at this setting.  

After break-in is complete, re-tension to 100 lbs.  Re-tension every 5,000 miles. 

 

 

 

 

 

 

 

 

 

 

 

 



5. TENSIONING THE BELT (continued…) 
 

4. If not using a belt tension gauge, a good rule of thumb is to apply 20lbs. of force 

in between the idler and alternator pulley.  In doing so, the measured horizontal 

deflection of the belt should be approximately ¼”. 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

5. After belt tension is set appropriately, you may now torque down the button head 

socket cap screws.  Torque both bolts to no more than 15 ft-lbs (180 in-lbs). 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

6. Once the tensioner block has been locked into place, the adjustment bolt will 

now be relieved of its tension.  Because of this, you will want to tighten the 

adjustment bolt ¼ turn (90 deg) more in order to secure it in place. 

 

 

 

 

 

 

 

 

 

 

 

 

 



CONGRATULATIONS!  YOUR A/C AND P/S 

REMOVAL IS NOW COMPLETE!!! 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Disclaimer/Warranty: 

 

Due to the nature of high performance applications, Karcepts, Inc. products are 

sold without any warranty of merchantability or fitness or purpose, express or 

implied.  It is expressly understood and agreed between Karcepts, Inc. and 

purchasers that as part of the bargain between Karcepts, Inc. and purchasers, 

consideration of doing business with each other, all purchasers take, select, and 

purchase said products and services from Karcepts, Inc. “as is” and “with all faults” 

and Karcepts, Inc. shall provide purchaser with a full and complete opportunity to 

examine parts, inventory or services when purchasing from Karcepts, Inc.  

Karcepts, Inc. shall not under any circumstances, be liable for any special, 

incidental, or consequential damages, including, but not limited to, damages or loss 

of other property of equipment, loss of profits or revenue, cost of purchased or 

replacement goods, or claims of customers of the purchaser which may arise 

and/or result from the sales, installation or use of these parts. 

  

Parts sold or manufactured by Karcepts, Inc. may not meet legal requirements for 

use on public roads.  It is the user’s responsibility to know and comply with all local 

and federal laws and regulations.  Use or installation of Karcepts, Inc. products may 

affect user insurance and/or vehicle warranty coverage.  It is the user’s sole 

responsibility for consequences that may occur due to having the product installed 

in his/her vehicle. 

 

Karcepts, Inc. assumes no legal responsibilities and/or liabilities, whether to user’s 

vehicle, engine, person(s), and/or property(s), that result from the use of, or servicing 

of a vehicle of which a Karcepts, Inc. product has been installed/attempted to be 

installed, or to any other vehicle(s) and/or person(s), regardless of whether or not 

this product has any involvement directly or indirectly and/or liability, and/or whether 

or not proper installation has been carried forth. 

 

Acquisition of a Karcepts, Inc. product will act as an acknowledgement of the legal 

disclaimer stated herein. 

 


